Week-1 Tutorial

1.

The current through a given circuit element is given by i(z) =2¢™" A. Graph the
current and find the net charge that passes through the element in the interval

from t=0to r=o0.

Compute the resistance of a copper wire having a diameter of 1.5 mm and a

length of 5 m, given p, .., =1.7x1 0° Q-m.

Consider the circuit shown below:
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@1t =73V find i,
1 =3V find 2.
@1 =5V find 5.
@1 =3V find s
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@15 ="5V find .

Consider the circuit shown below:

(a) If i,(1)=—e and v,(r)=—2¢™ find R,
(b) If i,(r)=—e™ and v,(t)=6e ™, find R, .
(©) T i,(t)=—2¢™ and v,(t)=—-2¢™  find R,

(d) If iy () =Le™ and v,(r)=-2¢™, find R,.



5. The total charge q(t) in some material is described by the function given below:

Find the current i(t) and draw it.




